Simplexova metoda - priklad
Pocatecéni uloha:
maximalizu] 2z1 + 9
pro 1, T2 > 0

za podminek —x1 + 29
r1 + X9

IA A

Rovnicovy tvar:

maximalizuj  2z; + 2o
pro 1, T2,x3, T4 > 0

za podminek —x1 + 19 + x3
r1 + X9 +

Ty —



Simplexova metoda - priklad
Rovnicovy tvar:

maximalizu] 2z1 + 9

pro  xi, T2, 3, X4 Z 0

za podminek —x1 + 9 + 23 =1

Tr1 + I + x4 = 3
Tabulka s B = {3,4}: Tabulka s B = {1, 3}:
r3 =1 + o1 — my ;vstowl oy = 3 — @y — @y
Ty = 3 — X1 — I9 4 vystoupi r3 = 4 — 209 — 14

z = 21 + X9 z =0 — X9 — 214



Simplexova metoda - priklad

Tabulka s B = {3,4}: Tabulka s B = {1, 3}:
r3 =1 + x1 — 29 ! vstoupi; T = 3 — Ty — T4
Ty = 3 — X1 — To 4 vystoupi T3 = 4 — 209 — 14
z = 201 + X9 z2 =06 — X9 — 214

4 x9 vstoupi, x3 vystoupi T x3 vstoupi, x9 vystoupi

Tabulka s B = {2,4}: Tabulka s B = {1,2}:
rTo = 1 + 21 — x3 21 vstoupi} ry = 1 + %xg — 5374
Ta = 2 — 2x1 + x3 4 vystoupi To = 2 — %333 — 574
z =1 4+ 3r1 — x3 z:4+%x3—§x4



